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ERE O .. |
& &

A :
133 :

Instructions :
GEATYTE G JIHGRIN, GEFAAT TG |
&l T9T T 78] &, I& I GEHd 4 &1 g |/

Answer the questions in Sanskrit only unless stated otherwise.

ST Fo797 e GUST: Gl |
3G J97-97 § AR @S § |

There are four sections in this question paper.

T UE: % ST — SFaaiey (3Tafsamy — sraaier) 10 TS
SECTION A (Unseen Reading Comprehension)

T vg: @ FEhd TEHTCHSRSRY_ (HEhd TS H1d ) 15 3T
SECTION B (Sanskrit Writing Skills)

Qug: T AT FTATRH_ (ITIIFd  SITHI) 20 A
SECTION C (Applied Grammar)

T ug: | 9T 1 — afedrer — Sfaeig (Jfears — @) 25 3Tg:
SECTION D PART I — Reading Comprehension

AT 11 — | SEhadTRcai=:

(AT E%ha ATfeed qi=) 10 37T

PART II — General Introduction to Sanskrit Literature



22 |

@uE: & (SECTION A)
AUTSATIT — TSI
AAFSATH — SrTe

Unseen Reading Comprehension

FYIfAIRGd TR IfSca Jed-SRHH, 3TN T&had forad |
freferfaa T 1 TgeRt fou e yeAt % IO wEhd § i |

Read the following passage and answer the given questions in Sanskrit.

-
.
.

10 37T

38 SIfa foeman: afga™ &t 9 SHd | foeRn wa ey foee: S | o
o1 wg Afgen a1 fogads g | faen gqwm fom qarfa | fomenq aa: arean
AN | T O TSR | AT o el qd: o g e | aeqd: ey
ST T S G WS | SR EAI g S b & A g e
wﬁﬁaﬁﬁlwﬁmﬁwwq&;amﬁmﬁmmw

JEHTG a1 & Afd | A Ta faemm: e

a1 3Tgd: AT | HeHAd, I

ﬁwqa‘ﬂ Y foey 9 gda I3 AW | 31 U fORmuTa™ "eem el
fag: | 3o = — “foenes wduAaEg” |

94T

(3)

ThUeH I | (had TeEgsead)
T Ieg H IW GINT | (hadd IR TH)

Answer in one word. (Only four questions)

() 1%1?11 AT Toh qaTa ?

(i) foITq : UTA™ Avd ?

Gii) o1 a1 Fergaad = 2

(v) T = ﬁ eq 2

(v) Taenem svar &9 wnfa 2

qUiATRA 3T | (had  TeIGIH)

9ol g1 | I G | (had & )

Answer in a complete sentence. (Only two questions)
(i) foemem s o gy stfeq ?

(i) Terrm T 7 =91 e 2

(iii) Termam: = shiger: AfEd ?

JATHCIH 3T | (ThHICIHBHTH) (hadd T

FreemIaR 3™ €T | (T w168 H) (hadd dF T9)

Answer as directed. (in one word) (Only three questions)

(i) ‘o fa=m’ s uen: 5

(i) W 3 fodmdg foh Ty ?
(iii) 91 g wg fa=w o= @ "9aaug HEd TgEH ?
(iv) ‘TErid’ 3fd fshamdee shque foh Tg&ad ?

3

’\

L 4=2

2x2=4

Ix3=3

P.T.O.



(3) T IT=0eH Hd YA IMueh HEhdA foT@d |
39 T8 & T IugFa vk T&eha # faafau |
Write a suitable title for this passage in Sanskrit. Ix1=1

wus: @ (SECTION B)
HEhd TATCHRRTEH
HEhd TEATCHS T
Sanskrit Writing Skills 15 37gT:

¥od: AW qaed: | Yadl HEhaAesh  HNHE YRR SANE:
FATH-ANTI JEEhT: 9 W: | qq gEdar Waal @iud g foifed
HeS[uTd: Rareen e = 44: o fored |

39 ¢aed & | A9 Tha A1eeh H o <t qfireht 1 3 TR waraw I 2
ERR 9T R 3 | 30 giEa Hd 3T 319 fYars i forg o o wegw ¥
IeGT 1 TRt WA TAMI 1 W 99 i Tt & fofan |

You are Devavrat. You have played the role of Shri Ram in a Sanskrit
drama and won the prize for the best acting. Rewrite the letter written to
your father to tell him about this by filling up the blanks with the wogds
given in the box. —x10=5
o< gEEE: 2
qaﬁ(”_ﬁ’ﬁﬁ:
fome:

TGS Uqerom: |
gt ) |
Y ¥ Wad: (i) e A | W (i) TehT
WuﬁaﬁﬁWW|mm(w) AT e |
Vv amuﬁwaq%mm e (vi) __ @vE e
o= w7 fat $adH | T (vi) ¥ #H 9% TH aTie el

Td: qRfoh: HAAATET Haq | g (viii) AAG: (ix)

EIEIGE!
ﬂa?ﬁ?:[: T REE
(x) _

RESL
JUHTTH, <oed:, TR, WEUHU, €99:, HEReeHes, S,

o N ~x
, TIETTY, Gdlch™eH |




® mEm
=

B
=
AU YEasreqHl HeRas Aifiadrs g feaee i [Rcar e
o forea |
oW H CU TN weq) <hl TRl § ffaiRad dgewen § ik Tam A 9id
AT & IH: fAfEy |
Fill in the blanks in the following short story with the help of the words
given in the box below and rewrite the same. éxl 0=5
afeq grfeome SH9e (1) I TR | T gy T (i)
I | TR (iid) gafd ¥ | Thel HiTad (iv) LSE|
AR | 9 (v) NY: I JEE TSR T (vi) faqafa |
qUGAT, HETRIGH. STATT: (vid) STl Sgl: e | §d sararn: ffcrear
(viii) TE 3IgUA | d SIS feal W (ix) uTve 37T |
YRS SATAH 3Tehedd Td Ul (x) YT |
S

HAT:, SO, Had:, d0TE, dege:, JUhUSed, HUMUS:, qUghIIH,
qTY:, I8 |
‘e’ 3fd fowemfiecr usearrfiay sg=eg fored |
(FoSTIETUEHT HERal U =q TEiaean o= WY fomafican waaedu
forEa 1)
‘W 39 TIwa T Ut S%ehd Tl H U 3T<0g ey |
(A Hoo ® fSu U wrec i wEEET oA B A U, A WaA 9 §
% TomaT st fafgu 1)
Write a paragraph in five Sanskrit sentences on TUIeR:’.
(If required take help of the words given in the box below, else write by
thinking yourself.) Ix5=5

TS

W, U, T, JE:, dgd, gUdd, B, oo, TE:, SO,
T, qafd |

Y4t (OR)

5 P.T.O.



ALITARGTTFIY HUTST TSAATRIHT HER TG FE |
frafefea et # @ foReel uter amedil o1 §%hd | 3TJaTE hIT |

Translate any five of the following sentences into Sanskrit.

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

srenferfaderRy Warfgauer a4 afemas o1 $od | (hadd  ITITEHY)

Teh ot =fh, Tepell STet § TEar o |
39 fornmed o Qi M IF 7 |

e dR-IR Tadm 7 |

BH ST oh1 ISHT hd & |

HeI3iiel o1 Bcd |T% a1 FHa 8 |
oo § are oftef T 2 |
TSI BT I 78T 4§ |

A rich man lived in a city.

There are trees on both sides of this school.
An old man walks slowly.

We pray to God.

Satyashil’s heart is clear and pure.

There are many holy places in the Himalayas.
Teachers teach students.

WQWusg: T (SECTION C)
ATTTFAITHIUTH

AU Fd HTh{0T
Applied Grammar

Ix5=5

20 ST

ffafaa e | T@ifea ugi il Y 3R | a-fo=sg hIT | (e B8 T)

Join and Disjoin Sandhis in the underlined words of the following
sentences. (Only six questions)

(1)
(ii)
(iii)
(iv)
v)
(vi)

(vii)

H1d: RETg A sty |

1= g + femn |
oot e 71g T |

SHTh[LHGRTHRT: HAAT G + HNH: |
T TR FrsaEE |
mﬁﬁraﬁ_sﬁr 3{IhIR: |

foh dTe— |1 S |

(vii) 3781 | ¥ Tire™y |

Ix6=6



CHI0)

22 |

srenferfaqarsy W@rfgd-ueri aurg foug o1 $%d | (had  JR-uSTHY)
frafafig s 4 aiferd 9 & wam 3 foug HifSw | (Shaa 9= T99)

Compound and expound the underlined words of the following sentences.
(Only five questions) Ix5=5

() &= fgfaen fafefae=r srrfee |
(i) Y =TieTae ae aveHTgie |
(iii)  afque=n Bt argeE: |

(iv) & 9cg: TeH Mo Tty |

(v) T9UYF |fgaq ¥ o= &=qeay |

(vi) Toparfafis sy |

(vii) e | oo srgenfeg: |

(viil) AT GER feramearma |

A ITARGTTRY [ETEAIGHT Tehideaal AS™d Yo a1 Fed |

(had  TRIEHH)
frfiiga Tt o @R Tgi | ehid o &1 Ffdse T &l Sty 3R gk
HITC | (had B: TH)

Add or separate suffixes from the underlined words of the following

sentences. (Only six questions) 1x6=6
() 3 WIUET S SO & g9 A |

(i)  SCETST: TEWa TH_+ Fcdl T9H T18 |

(iii) w:mﬁw‘wgﬁiﬁlam|

(iv) o ywfeae |

(v) el They g g e |

(vi)  STeaT feren EHedr SeR 7 A |

(vii) I 3 Fewa Tt 9 A + e |

7 P.T.O.



hIsShICade: 98 Gy faufr g Naaeemqid $ed | (had Teem)
SIS | U MU w1egi | I Tawfch 1 TR o ik o <A1 gfd i |
(et i I9)
Fill in the blanks using appropriate case-endings with the words given in
the brackets. (Only three questions) 1x3=3
i) & foe I ITTAH | (3R
(i) SR e I Samenet ety | (fars)
(iii) 37EM TS y=sy | ()

(iv) MU @ T agEd | (Th)

@vus: ¥ (SECTION D)
AT I
(PARTI)
gfeamsT — sraseaay
qfearst — saaraT
Reading Comprehension 25 3gI:

AYITARGT e JfScal AETETdM JeHH HEhdd IRA |
frefaRaa e =1 ggeRt 37 T IUTHG T < IR q&ehd H ST |

Read the following prose passage and answer the questions based on
them in Sanskrit. 5

TEATI;A:

FeOUSE 35 ST HiUAl TS WTE-cd HH Haehisl, TAT Achedld &l ag
fa9eM | g9 Il T deHRatd wear quif SYE | o Alesan
Feaet: it W e W o fiqad | 9 AT JERSET e Wit ety
EEUS HIATIH | Tgaa: HFHTH] FeolSl: @ 1 gadH, AU TearTed IS
TR T e e | g SEmEI Ao AEdeh SRR TSHEH Tl
FEHTSH TSI WTE-4Har Jefese qeareartd |

TIAT:

(37) URYCH ITA | (Shadd TIgIH)
T T6g H I AT | (had 31 TA)
Answer in one word. (Only two questions) —x2=1
(i)  ATHA: FEASHT o: JTaaH ?
(i) T UTCHET T 2

o : o
(i) IcalS: P IAHHY] ent<l Hidn ShTRddT ?
8




10.

22 |

(¥) qolaTeRH ITA | (Shadt JeHH)
qul 9T | I I | (Shadt Teh T9)
Answer in a complete sentence. (Only one question)
(i) a9 @ Favg 33 a2
(i)  Fpfudr T foh Teat I8 2

(|) ey A | (had Ay
FERTER 3T @NT | (had IR Je)

Answer as directed. (Only four questions)
(i) ‘g’ I guETdehde TTEeg fuean foEa |
(i) SeceHida’ s faamae g o foea |

(i) ‘T 79 gt | o ‘@ 3 ddmug e T ?

(iv) ‘f¥mar sfd fshamaee shque T sgad ?
(v) ‘Pfud aon s geat: faemeg foay 2
AYIARGd T dfSeal qgramias JeH &had I |

frafcTaa wermsr i ggeht 39 W SMETRA T < IT T&hd | 2T |

2x1=2

—x4=

Read the following verse and answer the questions based on them in

Sanskrit.

qE;

TrefaTssAgfa giawdt qEm
QUITIATY-SAe S fIyTemT =T |
SR | A A gt
AT |1 St red gfeqard! 1|

AT
(1) THUST I | (heed TTZIH)
T &g H I T | (had & )

Answer in one word. (Only two questions)
(i) SRy ST 1 99T ?
(i) WRAYH: FE ey e 2
(iil) TRIYfT e 1 fowed 2
(F) qUlaTeRH ITA | (Shadt JeTHEH)

U qe § IR T | (had Th TH)

Answer in a complete sentence. (Only one question)
(i)  wfamd glegamdl wow Sfawfd ?
(i) gfcqard Higeh dehd ?

9

—x2=1

2x1=2

P.T.O.



11.

(®)

JTTCI™ IA | (ThHUS) (haed JTAgSIH )
fdegar I ST | (T w1t #) (Shad =R W)

Answer as directed. (in one word) (Only four questions)
() SEfd 3fd fShaves qug o ?

(i) o genfa’ o any sfa gdmue R weay ?
(iii) ‘T s foetmug veirehrq Tt foreq |

(iv) ‘wdta gfegardt o1 foh fomivorey 2

(v) gl 3fd qee FEmIeieRg foh T ?

AYIARGT ATeT™ FfScal AETETNAT T F&had IA |

frfaifad ATeaTer st dgeRt 38 T TG TeHT < IR 6&hd § €T |

Read the following drama passage and answer the questions based on
them in Sanskrit.

TSI ©
Hrogehld: — REATEAl GRERAT FAR: |

T — IH | &: giETae: |

FGHIT: — WIS |

W — HERS: 30 | I | ] Sedead | Ush IRR-HiETr e
Terqeaa | 19 Fd IcAAIST g: ?

PHIogHT: — TS |

77 — TSIl | g | AIEd SR |
IS TEtfa gey TEean |
HE TASTRIeG H TSSIcATGRsrd ||

T9-T:

() THUH ITA | (had TG

Th 9sg H I AT | (b & 92)
Answer in one word. (Only two questions)
(i) PHARH foh A ?

(ii) TSI °h: I9Al Sd: ?

(iii) IR h: ggtfa ?

1Q

—x2=1
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(§) qofaTeR 3T | (had JETHH)
qul 9Tt | I I | (Shadt Teh T9)
Answer in complete sentence. (Only one question) 2x1=2
(1)  UHIAITHIETCT o1 erdean ?
(i) THTIHR HEATA TeehR: TR ?
(|) ey I | (had ATy
e ST AT | (St w” T9)

Answer as directed. (Only four questions) —x4=
G) ‘gl e s e e f 0

(i) W 3fd TG HEH TE ?

(i) ‘gfr’ 3fa uee watg form geray 2

(iv) @fq 3f weaed foamug fob Sgera ?

(v) ‘IeaeRrafa’ sfa fshamdees shqug ford ?

SeifaRgas Tee wrared AesuTeque: et 3H: foea |
ffafaa T % feu o wrand =1 geo # fow T vel & qolew g TR |

Complete the central idea of the given verse with the words given in the

box below and rewrite the same. éx6=3
YeATeh:
TehATTY AT Toremgerd= |TeAT |
AMRICd et T T Teg 0T I |
ey
IR AR (i) Iq_ (ii) NIESRICRERE |
GUEAG TR i) ade @Ol Gv) _ sTefed
et 9T (v) Tt (vi) e |
HosTHT
QUIEGHET, SEl, A, e, qogAvl, fammad

A4t (OR)

11 P.T.O.



13.

Yed-9Taned-Tq 3g wrane ferean fore |
fou U i wrenet # @ g wrend w1 e ok fafey |

Pick out and write the correct one out of the three explanations given for
each. 1x3=3

(i)  feefta: wa o arorg qrn foar garEfiq |
(iil) IS TUaX: g Shact SIo: HIROIET: T8 |

(F)  YUrEvS-ETHE |
(i) Sg¥ YurE: wafd |
(i) B-edl YUE: 39 H5S: J9: A |
(iii) JUE: B¢ 39 WA |

(|@) Sgwdt T @ I
(i) JEACAT g caq Ty |

(i) 33 gieet ATy = w8 s |
(il) 3T&1 | ogFd AT TevIHT T Hg 39 groat iU It |

IIfIREd Yelhgaed Tearad 3fque: Radeamyfd $&d |

frefetiiad gt Taiiehl o fU MU 311 | 3fud ggi & = T 61 gfd il |

The prose-order-renderings of the following two verses have been given
below fill in the blanks. 1 %6=3

(31)  epTEEEATE TS g&+a feafla: |
foprefima 7= Wig = Jufara: ||

A
T SRl 3TE=HT, (1) w9 foafSia: (smem) 7= Gi)
formfa otfima (iii) ERIGE



=
(F) & SiiEER: ®edl Hemau aRiafy: | ]
Shrar I3 fAerg afgere quortata 1|
T
RERS U AICH TG A6 afEER:, ®ed: () TEgn
(Agem) (i) 3fa fose
AT (OR)

T, 3 TeegEaene YarRdeh fotiacar aea e fo@a |

Y99 § {39 9Te-Edeh 1 g Th Talieh fof@eht 381 wraTd foifau |

Write one verse of the textbook other than the question paper and write
the meaning of it. 3x1=3

14, P WS IEEE @ RS IR 98 Hed $ed |

‘F’ TR ok TS KT @ TR S IS o 91 T Hifsu |

Match the sentences of Column ‘&% with the sentences of Column @ . éx4=2

‘% T @
(1)  Aew: e () 3 o R @gm: |
(8) e e ot Gi) = =t foom |
(@) e au: (iii) Yo e A |
(3) wERSTREEE (iv) 7 o fea: |

Download from www-MsEducationTv.com P.T.0.
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 EE
=
FIfIRgaaTey {@IgauaHl THEHER IgH SR e foad |
(hefet SeIqeeam)
fFrefefigd amei # W@ifhd 9al o JETHER WG 1 I i |
(et I )
Select and write the appropriate meanings of the underlined words in the
following sentences according to the context. (Only four questions) éx4=2

(31) e | yHicqeR |

(i) TEISHHMN
(i) ST
(iii) TIfENIq

(@) @™ faurfyomyg |
() wgHE™
(i)  STCATYOTH
(i) sgwISoTH

(@) TravEes 1 Shfadr afosafa |
() TR
(i) RrEvaH
(ifi) STEEHTRT

(7) foren <o fome sraua wa worf |
() @gfd
(i) =g
(iii) TS

Download from wwwMsEducationTv.com
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17.

18.

22 |

wvus: ¥ (SECTION D)
T 11
(PART II)
AT : FEhaaTgeayiead:
[T HERA WTfged aiter
General Introduction to Sanskrit Literature 10 3gT:

AYTANGAY HEATY ThEA hdl: AT HEhoH o |
frfafea @ @ Toreft we =fa w1 ufe dwha o fafau |

Write a brief note on any one poet of the following in Sanskrit. 1x3=3

(%) areHifep: (@) wgal: () oo

AAAT (OR)

HSSTIGAIEHT TTarA difcigaary feaee i $ed |

HoqWT § feu 1 ug) i g @ Frfofaa amei # fok ot S gfd i |

Fill in the blanks in the following, using the words from the box. L «6=3
2

i) UfqoEEesy_ fofgaq |

() HeH__ AAFHdE: Ha=d |

(i) T __ TREH wafd |

(iv) =¥ vafd |

(v) HENHES @h: arfeq |

(vi) IO TEeh: Ifeg |

RESAL
JehE, TIITH, HEThATTE, T, WiSl:, fomEen: |

HAT — TR — TIHET = TagHT geataemar: foreq |
HAT, ST 3TN FYh hl F&I TR fiiau |
Write the main characteristics of 9T, STREATRIHT and ETIH. 1x3=3

GUSHIIET ARSI 9] AedTi AfRTsedT forad |
WUSHTS AT T hl his =R fawmard fafgu |

Write any four characteristics of ‘GuEHIT or HETHTST . 1x4=4

13



